cd secondStep )

[z Attributes
- name : string
[=] Attributes - payload : T

= Attributes + modules : vector<Module> Timer = Operations

- connexion : Connexion* + retroactions : vector<Retroaction> 1

- messageQueue : queue<Message> [= Operations

- name : string Stokek... | = Attributes + start()
[= Operations - inSocket : Socket

+ receive() - outSocket : Socket

[
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[ Attributes
[= Operations
+ getSize() : Integer
+ getValue(string) : T Memory ¥
+ Memory(hash_map<string, T>)
+ setValue(T) : Integer 1 1 | = Attributes -
- B |_map< g - module : Module
- name : string [=] Operations
- parametresPhysiques : unordered_map<int> + clock()
- sockets : unordered_map<Socket>
(=) Operations
* o)
= + input(adress, data, Command) : Integer
o + output(adress, data, Command) : Integer .
# process(?) : Integer (=] Attributes

- name : string

(=) Attributes
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- spaceNeeded : int
- timeNeeded

[z Attributes
- H I_map<double>
(= Operations

[z Attributes
- connexions : vector<Connexions>
- modules : unordered_map<Module>

[=I Attributes [= Attributes

| [=] Operations I | [= Operations I

[=] Operations + getParamByName(string name) : double
+ setParamByName(string name)

[ Attributes :
- module : Batterie =/ Attributes

(=) Operations | [= Operations I
+ Décharge batterie sauf si voltage fourni par panneau solaire alors charge()

ChargeDechargeBatterie | ' 1
[= Attributes Batterie

Attril
[= Operations AR
- : {charge, voltage} 1
| (= Operations I



